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NO CALCULATOR ALLOWED
CALCULUS AB
SECTIONII, Part B

Time—45 minutes
Number of problems—3

No calculator is allowed for these problems.
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4. Let R be the region in the first quadrant bounded by the graph of ¥ = 2+/x, the horizontal line y = 6, and
the y-axis, as shown in the figure above.

(a) Find the area of R. -"(E - bo"r\'wyb" @

_m«- .,J; R S CG z@) A l@ _W

5 border.

S(b ‘?ax’")&*’—'

et T

Do not write beyond thi

c,m- -mr".-'- (°>“ lpp —avewe |

i
i
§

= SH— 36

Continue problem 4 on page 11.
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Do not write beyond this border.

P : . . ' |
| (b) Write, buiido not evaluatd an Integral expression that gives the volume of the solid generated when R is |
rotated about the horizontal line y = 7.
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(¢) Region R is the base of a solid. For each y, where 0 < y < 6, the cross section of the solid taken
perpendicular to the y-axis is a fectangld whose height is 3 times the length of its base in region R. Write,
but do not evaluate, an integral expifssion that gives thf volume of the solid.
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GO ON TO THE NEXT PAGE.
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Do not write beyond this border.
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Graph of g’

ned and differentiable on the closed interval [~7, 5] and satisfies ¢(0) = 5. The graph of

. The function g is defi
figure above.

g'(x), the derivative of g, consists of a semicircle and three line segments, as shown in the
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Continue problem 5 on page 13
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Do not write ch_yr_md this border.

(b) Find the x-coordinate of each pgint of inflection of the graph of y = g(x) on the interval -7 < x < 5.

Explain your reasoning. L>¢3 WW :
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. Find the x-coordinate of each critical point of h. where

(c) The function h is defined by h(x) =

L X
glx) =5
=7 < x < 5, and classify each critical point as the location of a relative minimum, re]ati\-‘imaximum. or

neither a minimum nor a maximum. Explain your reasoning.
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Do not write beyoud this border.

E CAL

dy
solution to the differential equation il * with f(1) =

(a) Write an equation for the line tangent to the graph of y = f(x) at x = L.
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(b) Use the tangent line equation from part () to approximate @ Given that f(x) >0 for 1< x < 1.1, is
the approximation for f(1.1) greater than or less than f(1.1) ? Explain your reasoning.
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(¢) Find the particular solution y = f(x) with initial condition f(1) = 2.
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